qrers_ R AreRSiE et

@A FE (TRE FOIR)?

TECDH e O
S| | ATHRFE a=eR wifdws
3 | R s
Ol | @ 7€
8l | efodieaa A ¢ oz
TN | e ¢ 8 © 2 >
S | S I AR AN AN IS8T | do+ 9-5 ¢-Y 3-8 0-]
A ARG SR ?
3 | SR RO 49 572 TG | NP e | g Sy
9 | IR o/ F97? 2-8% @-9% b-50% | 50-53% | S9%+
8 | PrreTe qoret ? faa + 9359 AR | @FgHH | - ey
QARG
¢ | I TS F© BI T ACP? | TF + 5.3 >-3.¢  |o0.co-> |<eo
EUSIE|
v | dfee SeEE e Rers ARSI | S T + @0-> ©0-¢0 | 0-90 | <%0
F©?
q | oG S SiowE Fee A >¢ % 8-CTTF |O-8FTF |1OTF |<TF
QoW N FE9?
b | AN AT @ 2o (FC Gt 0 Qg | EE | g ofsr N | o
FE? G
S TSI AT ﬁﬁ'@ﬁ‘ﬁ@ L >@0 % 80-¢O \©00-80 0-90 >0
F©7?
so | AT v I @ Ife witR | N0 99y | SR | 99 afs | @eaw
M2 SICIE
3 | T WA @ AIPIC 4T FaceA | e YT | St Bk SaCrE|
S e S ?
| T AEE R R A g | ez | T AfSTT | (T
T (O HIT TG F 71? SISk
SO | AP SR s S =@ e JRI/eE | e BET FC
AR FAMHBS AFCE ? SISIE
38 | ZR & efefifaa A I=F ? 735 SIQ | @R | 79 AT | @
SIS
3¢ | I B A1 OB oMl @S [ 1?7 | = it
S | I WerT SR 9<%l =R ? IR o3 ACFA | Sy |
A3
3 | T BIE @GR AT @ +@ ©-8 3-9 5-3 <




